

01/07/2022

Page 1 of 1

Vendor Ranking

Letting: 04220107 January 07, 2022 10:30 AM **Call Order:** 003 **Contract:** E4V67-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 40865497201 (*)

Contract Desc: PALM BEACH COUNTY DITCH CLEANING - ROUTINE MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AGRICULTURAL LAND SERVICES, INC.	Responsive	Winning bid	\$47,156.00	100.00%
2	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$51,032.90	108.22%
3	BANNERMAN LANDSCAPING, INC.	Responsive	Non-Winning Bid	\$59,150.00	125.43%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$97,785.00	207.36%
5	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$147,550.00	312.90%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 02/01/22 BEGIN TIME: 10:30 AM END DATE: 02/04/22 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$40,000.00 and not the contractors bid total.





Tabulation of Bids

Page 1 of 5

Letting: 04220107 January 07, 2022 **Call Order:** 003 **Contract:** E4V67-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 40865497201 (*)

Contract Descr: PALM BEACH COUNTY DITCH CLEANING - ROUTINE MAINTENANCE

SCOPE OF WORK: The work under this Contract consists of providing all labor, material, equipment, and incidentals necessary to clean and reshape ditches, canals and ponds, mow, remove litter, apply herbicide, and remove trees and brush on primary roads in Palm Beach County.

- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on the budgeted amount of \$40,000.00 and not the contractors bid total.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.

RENEWAL: This contract has a renewal option. This Contract will have 2 renewal periods of 12 months each.

Line No / Item ID Alterr Item Description	nate Quantity Units	(1) AGRICULT SERVICE		(2) CATES TRAC			NERMAN PING, INC.
() indicates item is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (L	F			
0005 E104 4 4 MOWING (INTERMEDIATE MACE	30.000 HINE) AC	35.00000	1,050.00	50.00000	1,500.00	300.00000	9,000.00
0010 E110 30 LITTER REMOVAL	30.000 AC	25.00000	750.00	15.00000	450.00	10.00000	300.00
0015 E120 10 1 CLEAN AND RESHAPE DITCH (SPREAD)	3,010.000 LF	2.10000	6,321.00	2.89000	8,698.90	5.00000	15,050.00
0020 E120 10 2 CLEAN AND RESHAPE DITCH (I	3,200.000 HAUL) LF	2.50000	8,000.00	2.89000	9,248.00	5.00000	16,000.00
0025 E120 10 4 CLEAN AND RESHAPE CANAL (7.0' DEPTH)	3,200.000 (3.5' TO LF	2.80000	8,960.00	2.99000	9,568.00	2.00000	6,400.00





Tabulation of Bids

Page 2 of 5

Lettin	g: 0)4220107 J	anuary 07, 20	22 Ca l	II Order: 003		Contract:	E4V67-R0		
	No / Item ID	Alternate	Quantity Units		(1) AGRICULTURAL LAND SERVICES, INC.		(2) CATES TRACTOR SERVICE LLC		(3) BANNERMAN LANDSCAPING, INC.	
() in	dicates item is b	oid as Lump Sum	S.I.I.C	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION:	0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (L	F				
0030 CLEAN DEPTH		PE CANAL (> 7.	3,200.000 0' LF	3.50000	11,200.00	2.99000	9,568.00	2.00000	6,400.00	
0035 TREE A	E580332 99 AND BRUSH F		15.000 AC	375.00000	5,625.00	650.00000	9,750.00	200.00000	3,000.00	
0040 HERBIC	E580337 2 CIDE (STRIP /	APPLICATION)	15.000 AC	175.00000	2,625.00	75.00000	1,125.00	100.00000	1,500.00	
	E580337 4 CIDE (STRIP CATION)(AQU	ATIC)	15.000 AC	175.00000	2,625.00	75.00000	1,125.00	100.00000	1,500.00	
	001 ROADSID EAN AND RE	DE DITCHES- Se ESHAPE (LF)	ction Totals:		\$47,156.00		\$51,032.90		\$59,150.00	
		Contract Gra	and Totals:		\$47,156.00		\$51,032.90		59,150.00	





Tabulation of Bids

Page 3 of 5

Letting	g : 0	4220107 J	anuary 07, 20	22 Ca l	II Order: 003		Contract:	E4V67-R0	
Line No / Item ID Alternate Item Description		Quantity Units	(4) MIDWESTERN CONSTRUCTION, INC		(5) T.T.C. ENVIRONMENTAL, INC.				
() ind	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (L	F			
0005 MOWIN	E104 4 4 IG (INTERMEI	DIATE MACHINE	30.000) AC	100.00000	3,000.00	50.00000	1,500.00		
0010 LITTER	E110 30 REMOVAL		30.000 AC	100.00000	3,000.00	3,000.00000	90,000.00		
0015 CLEAN (SPREA	E120 10 1 AND RESHAF AD)	PE DITCH	3,010.000 LF	1.00000	3,010.00	10.00000	30,100.00		
0020 CLEAN	E120 10 2 AND RESHAF	PE DITCH (HAU	3,200.000 L) LF	4.00000	12,800.00	4.00000	12,800.00		
0025 CLEAN 7.0' DEF		PE CANAL (3.5'	3,200.000 TO LF	8.00000	25,600.00	1.00000	3,200.00		
0030 CLEAN DEPTH		PE CANAL (> 7.0	3,200.000)' LF	10.00000	32,000.00	1.00000	3,200.00		
0035 TREE A	E580332 99 AND BRUSH R		15.000 AC	1,000.00000	15,000.00	250.00000	3,750.00		
0040 HERBIC	E580337 2 CIDE (STRIP A	APPLICATION)	15.000 AC	100.00000	1,500.00	100.00000	1,500.00		
	E580337 4 CIDE (STRIP CATION)(AQUA	ATIC)	15.000 AC	125.00000	1,875.00	100.00000	1,500.00		



01/07/2022

Tabulation of Bids

Page 4 of 5

Letting:	04220107	January 07, 20	22 C a	Call Order: 003		Contract:		E4V67-R0	
Line No / Item		ate Quantity Units	\ ,	(4) MIDWESTERN CONSTRUCTION, INC		(5) T.T.C. ENVIRONMENTAL, INC.			
	is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	

SECTION: 0001

(ROADSIDE DITCHES-CLEAN AND RESHAPE (LF

0001 ROADSIDE DITCHES- Section Totals:

\$97,785.00

\$147,550.00

CLEAN AND RESHAPE (LF)

Contract Grand Totals:

\$97,785.00

\$147,550.00



01/07/2022

Tabulation of Bids

Page 5 of 5

Letting: 04220107

January 07, 2022

Call Order: 003

Contract:

E4V67-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.